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vl semester B.com. Examination, Augususeptember z}zi

(CBCS) (Repeaters) (2017 - 18 and Onwards)
COMMERCE

Paper - 6.5 : Business Taxation (Elective paper - lll)
Time : 3 Hot-;rs Max. Marks ; 70

Instruction : Answers sfrodd be comptetety either in Engtish or in Kannada.

SECTICN _ A

1. Answer any five sub-questions. Each sub-question carries two marks. (Sx2=10)

ai What is Self-Assessment ?

b) Expand ITR and TDS.

c) What is custom duty ?

d) What do you mean by advance payment of tax ?

e) What is resident company ?

f) Who is working Partner ?

g) What is partnership deed ?

SECTION * B

Answer any three questions. Each question carries six marks.

2. What are methods of valuation under customs duty ?

(3x6=18i

Write down the format of Book Profit.

What is e-filing Z Wnlt are benefits associated with e-filing ?

ABC Ltd. imported goods from USA which is valued in lndian currency amounting
to Fls. 8,40,250.

Compute the customs duty from the following.

i) BCD - 1A/"

ii) Social welfare cess - 10%

iii) |GST - 10%.
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6. State whether the following payments are admissible or not while calculating
the business income under the provisions of lncome Tax Act.

ii Loss of stock due to theft by an employee

ii) Service charges

iii) Charities paid

iv) Provisions for douhtful debt

v) Gift Tax paid

vi) Professional Tax paid.

SECTTON - C

Answer any three questions. Each question carries fourteen marks. (3x14=42!

7. Mr. Bharat imports by air from USA machine along with relevant accessories
and spares for the value US $1,20,000 FOB. The other details are as follows.

a) Cornmission to local agent in lndia Rs. 27,000

b) Freight and insurance from airpod to factory godown Rs. 30,000

c) Freight US $ 36,000 (US to lndia)

d) Goods are insured, premium amount is not shown in invoice and not available

e) At the request of Mr. Bharat, US $ 6000 has been incurred as expenses for
improving the design of the machine, but the same is not reflected in the
invoice

f) Basic customs duty is 15"1", Social welfare surcharge- 10% and IGST- 18%

g) Exchange rate to be considered US $1 = Rs. 72.

Compute Assessable value and Total custom duty payable.
+,

8. Veena and Lakshmi are partners sharing profit and losses equally. The following
is the P&L A/c for the year ending 31-03-2020.

Dr. Profit and loss Alc for the year ended 31-03-2020 Cr.

Particutars Amount Particulars Amount
in Rs. in Hs.

To Offiee expenses 1,50,S00 By Fleceipis from clients 5,30,000

To Salary to employees 40,000 By lnterest recovered from

To lncome tax 20,000 Veena and Lakshmi

To Salary to Veena 1,20,000 on drawings 2,500

I
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To Salary to Lakshmi 1,32,000 By lnterest on Govt.

To lnterest on capital Securities

Veena @ 15"/" 7,500 By STCG

To Interest on capital

Lakshrni @ 15"/" 10,000

To Net Profit 4,38,000

9,17,500

trFr - reov9 -vg

2,85,000

1,00,000

9,17,500

Additional information :

a) Out of the expenses Rs. 12,500 is not deductible by virtue of Sectisn 30 to 37.

b) During the year the firm sells a capital ,.."ifor Rs. 5,00,000 (lndexed cost

of acquisition being Rs. 1,00,000).

Find out the net income and tax liability of the firm for the A.Y. 2O2A-21.

9. Mr. Mahesh, Mr. Suresh and Mr. Hamesh are partners in the firm, sharing profit

and losses in the ration of 5 : 3:2. The profit and losses for the previous year

2A19-2A discloses the net loss of Rs. 2,00,000 after charging the following :

l) Remuneration to partners.

a) Salary to Mahesh Rs. 1,00,000

b) Bonus to Suresh Fls. 80,000

c) Commission to Ramesh Hs. 60,000.

ll) lnterest to partners on their equal capital balance al24/o p.a. Rs. 40,000.

lll) Expenses not allowed UIS 40(b) but debited to P/L A/c Rs. 60,000.

lV) lnterest on security credited to profit and loss A/c Rs. 50,000.

Partnership deed has authorized the remuqeration and interest but Suresh is

a sleeping partner. The firm has a short term capital gain on sale of property

Rs. 50,000 not shown in the books.

Compute the book profit and taxable income of the firm for the A.Y. 2A2A-21.

10. What is CST ? Explain the objectives and features of Central Sales Tax.
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11. The following P/L PQR Ltd. for the financial year ending 2018-19. Compute its

total income.

Particulars Amount Particulars Amount

Rs. Rs.

To Provision for tax 1,50,000 By gross profit 6,50,000

Rent and taxes 15,000 Net profit on sale of

Fire insurance 8,500 machinery 18,000

Establishment expenses 1,35,000 By interest on securities 12,500

To depreciation 30,000 By dividend received

To donations and charities 3,500 from lndian company 50,000

To general expenses 32,500

To reserve and doubtful

debts 5,500

To entertainment 7,500

To net profit 3,43,000

7,30,500 7,30,500

Additional information :

a) The allowable depreciation as per lT Act Rs. 20,000.

b) Machinery was purchased in August 2A17 and sold irf March 2019.

ci Donation at charitres is paid to a recognized charitable institution.

d{d udrQ

aqrad - a

1. Cndde acd: erod-4,d4ileri er.:do&. {,e erud-{,d*r19d oddr erodrlS;. {5x2=10}

a) 1c:o d$orCndsjaodded; r

b) ITR d:dr TDS ddfrsdl &iD&.

c) erd)dJ d:od aoddtd: ?
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d) dorlo$ dr:orld aad-B aodded: ?

e) &aa:r dod& aodded: ?

f) ac3:r&drbfr:# aaer:rodd.: aodd o3D$ ?

g) mu:mod dq aodded: ?

Aq'dil - ?i

obdenddra dlracb ${rt+rt erudo:," qg €,d4rleri ercb eodrisc. (3x6=19)

2. e:il:d: fooddd,l eJdo aad:d a&d eddsb o3>dd I

3. Cnd enuJd ndradddr uoou:o.
4

, 4. e-{Oorn aodded> ? e-{e)onrtod srrbd erdrdraerl$.: o3nd6 f

5. ABC Ltd. usA o}:od sd:d: dnBdood idE:rls dPerrd qnd8ec: dd&o$o_
, dJa.8,40,250.

E$ndddgod erd)d) -a:oddd1 dm;.od d:aa.

i) BCD - 1Q/"

ii) nd>x dercrea dF6 - 10%

iii) IGST - 10%.

6. saaos dori a"o$do3: cucfrdrl# eaod:o_atrmd uemo3:ddl e3uryod d>d:;orl
di d$nd md3dgc lera&Srde efan q%de aot^ngCd.1Ee,\.

i) wdo.efioSJod dqddooaan FD6r dd' d V e"i- '--eJ,

ii) de;sa d>e.:url#-:

iii) Csriddtr aafEdeand

iv) iodCt{d sae;*aufi o1a-rof,drl$:

v) wd:riod dorl md8ienfld

vi) d,8dd dorl aad8dennd.
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eq:ad -,:,

o3ndeeddJ? dlJocb 4,d4rl9rl en:don. d,g d,d4rfqri d0sauleodrl$:. (3x14=421

7 . US $1,20,000 FOB #e-:r{noz^;oQd doEdilqb d:$ DA qrorlrldooOri USAoS:o$Aod

Q,e qJdd adradd d:oe"rd e:uJ:e3: dnGdn$gqd. qdd addri$r €r d$ndo8d.

a) zfoddde)_iqeoj: adoofri dra.27,000 dtudo6

b) ediad &era$ood *aarord rinedorrl iddr d:dr ad: dra. 30,000

c) ddd: US $ 36,000 (USeod spadddu)

d) ndE)rl$ edr d))deJufld,,!, etucJJ o d"qdq eo6aao{do_ doeodenn% drq
prot ^\,o'rvw-wv

'dm

e) ge qJdd sdddoeo8oJ: d:edri, o3:o$d ad"drddii:qcoiu: US $ 6000 dq
d>dmAd, e:dd erdr .a6rdDC{dO_ d edOildCIe.r_

f) iloe.: erdJdJ t'i:od 157o, Hdnzs E*r* dzrar#r- 10% dJd: IGST- 1B%

g) aild:o$ dddq US $1 = dro. 72 aod: dorlrdid€dr.

d$e;"drodd dnduad:esd d$e^dJ$ md8dzjerod uuu erd)d) xboddd: suazodd d r ----iJ- ------'-1.---t----
_J_ G
c^!dOg.

8. &eeaa d:d: eE e enuj dJ$ dddd: ddndaraft dor,Sdoscd mq:ercddt.rdtg'rei4?

31-03-2020 dd dradrtra$:d ddrd mqJ d:q d{ssdoJ:: dr dsindogd.

Dr.
q-J!i;.'l-
cdEJUl lYJ

Cr.

elroe

2,500

2,85,000

1,00,000

20,000 dead d:es 
"EpJrq

1,20,000 dHnCI dsdsand

1,32,000 Bardd c:ee)d uGol:od

dq,dilsr
7,500 STCG drne.:d

31-03-2020 g tf"rortnoa;Erf eDeJ;$6) ra esd+ * ' r-eJ
J^J a--Jt-J.J-
c^uc)t? c^Jc^JtJI l\ru

*.;
ir
L4JC./.

1,50,000 ry,ddooC dtueCIriS t:.osd 5,30,000

e.rudn"eArl9ri SouS 40,000 AeE6? d:d: e.r8 , e dddd -'--- ---; -"'iU

CoJaA {oJiocrQO(^i\\J C^rA)f l'Yl l

$6ioJ: dodd

aeralri ioz^:S

e.:t eri ioe.:d

&em-aS uodryodd

a3:e0d ua 15%
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sE eoJ: uodaD$dq"\9

d:eOd are 15%

e{S enUldu

.Ja.J--la 
-)-9 

e, .C)aEJs)LJ q}.rdo\g .

-7- (iFl - 2Rq

10,000

4.,38,000

9,17,500 9,17,500

a) d{F0-dro. 12,500 dda" 30 ood 37 d q,6-rd dGdnra9ie;orbQOe-:^"

b) ddrd0_io-god:: uodao$ el1o$q do. 5,00,000 dudnooeJ $D6dJdd (EDdeedC

dndrod d*d". 1,00,000 eindrqd.

A.Y. 2020-21 rrofr no{oJ: D{$ urdo$ d:6r dorl dodrnodolrdi dod:&Go}:o.

9. Q,e d:deef, Q,e -a:ded d.:dg Q,e ddoed sddo Bo-;5C:e)_ aae.perodoaflemod,

5 : 3 :2 d daddd0_enqJ ilq d*dq dozsdosrosod. Eoood ddrd 2019-20 d

enqJ ildq d{d$o & d#nd d:e,:u A6nd dodd do. 2,00,000dd eddd d4ddr4
^.o J^JJ^J-J.J'aJOoO (J /'leilC,gA.t ).9 CJ.

l) anu:esadorl xioepadd.

a) d:deefrl dou$ dra. 1,00,000

b) t'rdeefri a1laedxf dra. 80,000

c) daS:eefri dtu-.Nilr dra. 60,000.

ll) ane,r:mdori e:dd idDd r^:odaa$d zmrei{dO- 24% p.a.40,000 z;4.

llt) d{d$,: UIS 40(b} eldl ed:d:8ienfle.:_udd saqj drq d4 andrl dra. 60,000

dnur dndenftd.

lV) #€,do$ d:ee)d ,qo$d;* $DqJ ab{ d{d a>d do. 50,000.

me.Dmo8 a$O doqrdd drdj r%o$&* ssEddriraqld e:dd S,:def {e&0n6
an q:ercdoa Ra-r d. 5o{oJH eJBr o$ dn oa osd d: e eJ u en dQ oJ: u o dansg dD. 50, 000aQrcJ

ex$dQ {J{ 6ri$q ds eo5enfl e;_.

A.Y. 2020-21 dodoJ: d1d en6 ,Srd: dorloJ: so-ooJ:td: dta.zsad droG.

10. CST aodded: ? deoQ, d>cn* dorlC: en:dr$d$; drQ qg-trilSQ adotu.
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' 
1 1 . 2A18-19 d dso6D&d ddrd eodrd0-PQH Ltd.d eDqJ d*d di d*ndGd. erdd ?,r^l)

urro&ddl eJua;,od dnc.

Atddqji drdd addd$lc dJod

; d".

dorinan &uoddri 1,50,000 e.r"u mepood 6,50,000

?roarl d)dJ dorirlSJ 15,000 oJ:odgedddearl$ dnoaa^laod

eA, &d: 9,500 edg enqJ 19,0004 '- -"5-

xe*ddo$ dafrf$c 1,35,000 dEorou3ris abeod z^laou:od 12,500

frdd9ri 30,000 rtrodeeot 8od&ot:od ddd

deedrl d:di d.gdqri 3,500 mepodd d:oe.:E 50,000

nadnd, d?^*.19d 32,500

&:e$e.u d:d: eedJd>e{d

;;ae-:rl9rl

d:ddoxdri

ed$ enz,Jd. 3,43,000
I

7,30,500

dg$dO dDSo.3 ' :'

a) mos soou:d {aad er$d).9iud:rod Xdde dra. 20,000.

b) o3:odgedddead*{ uffi 2017 de) $oeaienor:d: d:d: dD?d r ZO19 dq
d>oots Cndencu:d:.

c) r,scouSrlS0_d deedri.Jrq $addd ddd ds fro{ri md8dsarbdd.

E trNNvrvvv

7,500

7,30,500


